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M method and two stage method:
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Thus optimal solution is {2/5.9/5) with optimal value 17/5.
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Example 2:

Use M method to solve the following LPP:
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Thus optimal solution is {-1/7.45/7.0} with optimad value 148/7.

Introduction to two phase methods:
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Example 3:

Use Two Phase method to solve the following 1.1 DP:
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Thus optimal solution is (4/7.45/7) with optimal value 102/7.
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Thus optimal solution is {4/7.45/7.0) with optimal value 1487,

Special case when applying such methods:
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Meaning of unbounded feasible region:
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Example 5:
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Thus the LPP 1s unbounded.
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